e e

SR 1741/1729
PR, B AT sk

rocknuis znd Sealing YWashers for Cable Glands

fBize, SimaE T
A BRI Y
A
N ;
)
2
N 2 s s H/ I
N\ e / )
RS HRYNRES e E ek suiFREe
pR/&EYSE 000 ARETRE :
AR A : 1 : 1 Ly o
TEES e umel| wean | e M oy iy
WE T R B S B 2 THRES | BEUUE g = =
467585 | 467741 | PG7 18 50 |- 467643 50 490711 PG 7 15.0 2.5 467677 %
467586 | 467742 | PG9 220 | 50 | 467644 50553 490712 PG 9 18.0 3.0 467678 %
467587 | 467743 | PG 11 240 | 50 467645 50 490713 PG 11 21.0 3.5 467679 2
467588 | 467744 | PG 135 27.0 55 | 467646 50 . 490714 |PG135 | 220 | 35 467680 %
467589 | 467745 | PG 16 30.0 6.0 467647 50 - | PG16 | 245 35 467681 B
467591 | 467746 | PG 21 36.0 70 | 467649 50 490716 PG21 | 325 | 35 467682 %
467593 | 467747 | PG 29 45.0 7.0 | 467651 25 | 490717 PG29 | 41.0 4.0 467683 0
467594 | 467748 | PG36 |  58.0 80 | 467652 10 490718 | PG36 | 51.0 5.0 467684 10
467595 | 467749 | PG 42 63.0 8.0 | 467653 10 490719 PG42 | 60.0 5.0 " 467685 0
467596 | 467750 | PG48 69.0 8.0 | 467654 10 490720 PG48 | 640 | 50 467686 il
467598 | 467752 | M12x15 18.0 50 | 467656 50 490721  |M12x 1'5{ 14.0 2.5 467687 z
467600 | 467753 | M16x 1.5 220 | 50 | 467658 50 490722 |M16x15| 180 | 30 . 467688 A
467602 | 467754 | M20x 1.5 27.0 55 | 467660 50 - 490723  |M20x 15| 235 3.0 467690 5
467605 | 467755 | M25x 1:5 33.0 6.5 467663 50 467634 - IM25x1.5{ 29.0 3.5 467692 B
467608 | 467756 | M32x 1.5 39.0 7.0 | 467667 25 490725  [M32x1.5| 36.0 40 | 467693 L
467610 | 467757 | M40x 1.5 50.0 7.0 | 467669 10 490726  |{M40x 15| 46.0 4.5 467694 ¥
467611 | 467758 | M50 x 1.5 60.0 80 | 467670 10 490727  IM50x 15| 55.0 5.0 467695 g
467613 | 467759 | M63 x 1.5 74.0 80 | 467671 10 490728  |M63x 15| 70.0 5.5 467696 #
467614 =n " NPT 24.0 50 | 467672 50 490729 Y"NPT | 195 3.0 : b
467615 | 467761 | %" NPT 27.0 70 | 467673 50 _ 490730 | Y*NPT | 240 45 467698 B
467616 | 467762 | ¥ NPT 33.0 7.0 467674 25 490731 3/4"NPT | | 315 3.5 467699 13
467617 | 467763 | 1" NPT 40.0 7.0 487675 25 - 490732 T"NPT | 380 4.0 467700 ,41



ALKO SALES3
矩形


